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1.4-10 - Full Action (DCPS), Limit = 119000.00, Max.=130962.92, End Val. 129915.96+
1.2¢10° [ Action (idl), Max = 129922., End Val.= 129922.

[y

C Full Action (idl), Limit = 119000., Max.=130969., End Val,
1.0¢10° Shot #: 2650.00, Param Tree: 72

E Fault Time: 3.9138773

8.0°10" FFaults (L1) [AT,DT]: [-10.0000, 3.89675]
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C IDL, éircular, [-12é.096, 0.031811334]

100 :—DCPS, Circular, [-125.09633, 0.031833371]

- IDL, Shaped [Displaced], [-125.096, 0.0318334]

" DCPS, Shaped [Displaced], [-125.09633, 0.031833371]

Shot #: 2650.00, Param Tree: 72

ul
o

lllllllllllll

TF [Post Disruption]
o

Illllllllllll
lllllllllllll




